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. Let f: R — R be the function given by f(x) = 3x° — 10x* +7. Find the point(s) of

inflection of the graph of f.

. Let f: R — R be a continuous function. If

2x
/ tf(t)dt = sinx — xcosx,
0

determine f(7/2).

Find the definite integral

3
/ V/x Inxdx.
!

. Find the interval of convergence of the power series

n—H(x 2)
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Let f: R — R be a function. A real number c is called a fixed point of f if f(c) =
Prove that if f is differentiable on R and f’(x) < 1 for all x € R, then f has at most one
fixed point.



